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3 | x K B — 44 52 96 24 2|1% ¥zt INTEALRTAIN—
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5 | I % — 41 45 86 13.2 72.8|7 A F kR
6 [ 2 w71 46 52 98 25.2 72.8|ATEX LOURDES RF4—H>
7| B 78 36 37 73 0 73| Kb =\ B i vk
8§ /v W Mg IE R 36 49 85 12 3| B AT & e ok
9 B & xR 44 47 91 18 73|BSZ A
10 |1 m| B — 47 44 91 18 By —T T TR ITAT—
1 [ W E 2 40 38 78 4.8 73.2|7 P RIETA v
2 & & 37 41 78 4.8 73.2
13 A 1 x T 54 60| 114 40.8 73.2
14 (Wl B 42 41 83 9.6 73.4
15 | il ¥ xR 42 47 89 15.6 34|V /R3=— RARN T
16 |/ % 5 43 46 89 15.6 73.4
7 | K N R 51 44 95 21.6 73.4
18 |&F M e 44 51 95 21.6 73.4
19 |#k B = 49 52| 101 27.6 73.4
20 |k B ] 51 50 101 27.6 T3A|BEN G T
21 | H %A 41 47 88 14.4 73.6
22 | R BE = 43 51 94 20.4 73.6|EBIHEKR e —AL > 5L 5
23 |l fi] ¥ 43 51 94 20.4 73.6
24 (R H R 44 50 94 20.4 73.6
25 | & L o & 48 46 94 20.4 73.6|FrrroAf Fyv
26 [ 4 - B 45 42 87 13.2 73.8
21 & R & PN 45 42 87 13.2 73.8
28 |H# + B F 2z 45 42 87 13.2 73.8
29 | B woE 40 40 80 6 74
30 |F I i it 41 45 86 12 TA(MREREEFE A
31| ) fili 50 54| 104 30 74
2 1B o o®wm L& Rk 52 58 110 36 74
33 B Al 40 39 79 4.8 T4.2|FEEZLOMNY Sk
34 |48 L BHOOE 45 40 85 10.8 74.2
35 |l X E A 43 48 91 16.8 T4.2|HEFEE DS DY R
36 (% i = 43 48 91 16.8 74.2
37 |BA i Xt 45 52 97 22.8 74.2
38 |4 H %= 41 43 84 9.6 74.4
39 | S| . 38 46 84 9.6 74.4
40 [#K [ N 42 42 84 9.6 T4.4| W FBEN R b
41 |H & 5 47 43 90 15.6 74.4
I R ¥ — 44 46 90 15.6 74.4
43 | S| h 45 51 96 21.6 74.4
44 |k — & 47 55| 102 27.6 44| 7—~ Fxv S
45 P& b 5 42 47 89 14.4 T4.6|R L7402y
46 |= i 1E 44 45 89 14.4 74.6
47 |f0 0® kL = 45 44 89 14.4 74.6
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51 |®m K ETIEN G 46 48 94 19.2 74.8

5 |H & O 5 48 46 94 19.2 74.8

53 |Bd N 1 47 53 100 25.2 74.8
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61  [Al H B F 47 51 98 22.8 75.2

62 |@ i = 46 52 98 22.8 75.2

63 [ A& HF £ K 48 37 85 9.6 75.4

64 |BF H 1 39 46 85 9.6 75.4
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66 [® & B2 47 44 91 15.6 75. 4| BEMAF3E Y

67 |MH H Hooo 43 48 91 15.6 75.4
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70 | i & 39 39 78 2.4 75.6|=a—H < —F LU DFE &MY 2 — A
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82 [ r W% 48 51 99 22.8 76.2

83 [k % E = 45 60[ 105 28.8 76.2

84 [ I /NI ! 47 45 92 15.6 76.4

85 [ Kk ® = 43 49 92 15.6 T6.4| AR MFHEO DY h
86 [ R L 42 56 98 21.6 76.4

87 |/ B T 57 47 104 27.6 76.4

88 | i} LS 58 58| 116 39.6 76.4| A0 27E

89 | & L I— 47 44 91 14.4 76.6

20 (& & % 48 49 97 20.4 76.6|%E

91 | & + 45 52 97 20.4 76.6

922 |k K B B 52 51| 103 26.4 76.6

93 |75 i i} 54 49 103 26.4 76.6

94 |H = o M 55 54 109 32.4 76.6

95 |4 M B & 46 44 90 13.2 76.8| 91

96 {ES g} 47 49 96 19.2 76.8

97 | JIl 5 E 50 52 102 25.2 76.8

98 [ B 5L T 52 56 108 31.2 76.8
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100 (&£ & T+ 54 60| 114 37.2 76.8| % A ARk
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101 (g e R 44 45 89 12 77

102 (B B BH — 5 46 49 95 18 77

103 |k & E #® 46 49 95 18 77

104 |7 H B AT 49 52 101 24 77
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106 |##  kE [ 49 45 94 16.8 77.2
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12 |#= & 5F 51 48 99 21.6 77.4

113 |%& % N = 47 52 99 21.6 77.4

114 |# B # T 46 53 99 21.6 77.4

115  |jE H J& 46 46 92 14.4 TT.6|REEFE OB DY

116 |+ H £ A 45 47 92 14.4 77.6

17 |= It ] 50 48 98 20.4 77.6

18 [ F M 44 54 98 20.4 77.6

119 | XK * 2 49 55 104 26.4 77.6

120 |% M M — 51 59 110 32.4 77.6|RAF—K—F X7 30004y
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122 | %N H 47 44 91 13.2 77.8

123 [ = #* 43 54 97 19.2 77.8
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138 | A % H 52 54 106 27.6 78.4
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140 A& #F X 40 47 87 8.4 78.6| 0N
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151 |f E & E T 46 57 103 24 79

152 [F & S 52 51| 103 24 79

153 |8 (i B AT 58 51 109 30 79

154 ([ %% [EA 56 59| 115 36 79

155 | - 4 44 40 84 4.8 79.2|%—FT 14— FTRE 300014y
156 |# g " 4 47 49 96 16.8 79.2

157 P/ o € # o F 46 56 102 22.8 79.2

158 |18 k- i 46 56| 102 22.8 79.2

159 | i wo M 46 49 95 15.6 79.4

160 g K o AR 45 50 95 15.6 79.4|BS RAL Ry
161 |m K R 49 46 95 15.6 79.4

162 |8 K e — 51 50| 101 21.6 79.4

163 [T =) bt 53 54| 107 27.6 79.4

164 [ 30 [iEN (A 55 52| 107 27.6 79.4

165 |fif  H #w A 50 57 107 27.6 79.4|ERITESRL i
166 |H HH *% 51 56 107 27.6 79.4

167 |3 M & 45 49 94 14.4 79.6

168 |5 B oo® 48 52 100 20.4 79.6

169 (A m X KR F 51 49| 100 20.4 79.6

170 [#k Ji i 47 53| 100 20.4 79.6|72722IEL 5ke
171 |2 ¥ o B 54 45 99 19.2 79.8

172 | % B 49 49 98 18 80

173 |ffi M RTANN 51 46 97 16.8 80.2

174 4% H wT 52 51 103 22.8 80.2

175 [ 2 w T 55 54 109 28.8 80.2|BHfE L —F b
176 |[& & I B & 49 47 96 15.6 80.4

177 |BY i3 Vil 46 56 102 21.6 80.4
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181 [ lif] + = 48 53| 101 20.4 80.6

182 | M W E T 50 51 101 20.4 80.6

183 |f& W R 56 51 107 26.4 80.6

184 |t@ i # 2 60 53| 113 32.4 80.6

185 |k a7 59 60[ 119 38.4 80.6|Asy bR A—H—
186 [N i & 48 52 100 19.2 80.8

187 [ K 5[ 53 53| 106 25.2 80.8

188 & ol 49 57| 106 25.2 80.8

189 |#% il 2 S 59 59| 118 37.2 80.8
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191 (& H TS 51 48 99 18 81

192 |f&8 K = — 52 53 105 24 81

193 | K I — 60 62| 122 40.8 81.2

194 |'F & #®* I 57 58 115 33.6 81.4

195 (&% m & x F 57 51| 108 26.4 81.6|FX—tLT4H— R—F
196 |1l M moFE 53 61 114 32.4 81.6

197 |57 B Bk 56 57 113 31.2 81.8

198 |Bk i N 63 50 113 31.2 81.8

199 | EINS 57 56 113 31.2 81.8

200 |¥2 A W= 54 46 100 18 82[32VAITL &
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201 |B9 % i =) 48 52 100 18 82

202 |k i BT 51 491 100 18 82

203 |3 fi] il 57 55 112 30 82

204 | I E A 58 54 112 30 82

205 |fn R F  # 53 46 99 16.8 82.2| 747 7—/v

206 | I B3 56 55| 111 28.8 82.2

207 |t R K 56 61| 117 34.8 82.2

208 | A = 48 50 98 15.6 82.4

209 |l A HwoE 56 54 110 27.6 82.4

210 |BF A xR 54 62 116 33.6 82.4|hTARALTF R AA—TF A — R
211 |fE R W% 62 60| 122 39.6 82.4

212 |l o wWm € B H 61 61| 122 39.6 82.4

213 |+ & = 44 47 91 8.4 82.6

214 K M om #F T 50 53| 103 20.4 82.6

215 |t % 49 60[ 109 26.4 82.6|BSV 722 &4

216 |k W %X N F 55 53| 108 25.2 82.8

217 | B g — 49 52 101 18 83

218 [ H woF 54 59 113 30 83

219 |H H & — 56 63 119 36 83

220 |k W % 62 62 124 40.8 83.2[ AT N —_F 2 —t vk
221 | Kk B T 58 53| 111 27.6 83.4

222 R B 0w 2 0 56 61 117 33.6 83.4[A—n AU a—b—RA—T—
223 /oW H F 51 53| 104 20.4 83.6

224 | B M 60 50 110 26.4 83.6

225 |B H Wk 52 57| 109 25.2 83.8|FoE AL a— T a—RAr—2
226 |A R B A E 59 55| 114 30 84

227 | = B H 56 64| 120 36 84

228 |Hr ES (3 46 55 101 16.8 84.2

229 B JROF & T 58 61| 119 34.8 84.2

230 (& T ¥ ¥ & 63 56 119 34.8 84.2|BS /<& —

231 |EF Okt £ F 62 63| 125 40.8 84.2

232 | F M 0 55 50( 105 20.4 84.6

233 |k e TECI 57 59| 116 31.2 84.8

234 |F H W T 60 62| 122 37.2 84.8

235 |F H Mo 62 60 122 37.2 848 <Dl 1#4—=

236 |1 H v < A 62 58 120 34.8 85.2

237 | Fl H#E & K 62 64 126 40.8 85.2

238 |k It f§ 7 52 61 113 27.6 85.4

239 | Kk A & 57 68 125 39.6 85.4

240 |22 H FE 55 56 111 25.2 85.8| vy =— H—Fw s
241 | % B 57 65 122 36 86

242 \H £ = B F 62 53 115 28.8 86.2

243 | ) wmoT 61 53 114 27.6 86.4

244 |B B I 55 57 112 25.2 86.8

245 | K B E 62 54 116 28.8 87.2|ZANIAL ~ULh

246 |F B = 61 59 120 32.4 87.6

247 |k bR BE 54 64 118 30 88

248 | 15 = 57 67| 124 33.6 90.4

249 |3k B % 60 58 118 26.4 91.6

250 | H T 66 67| 133 40.8 92.2|IABREAS Y —BE AL AT —F ARtk
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251 |/ #K EF 75 60| 135 40.8 94.2
252 | I g — 63 72| 135 40.8 94.2
253 |4 + 5 63 74 137 40.8 96.2
254 I % 66 72 138 40.8 97.2
255 R A o — 76 55 131 32.4 98.6|IZ=Ab7—R {Hakt ok
BB [k & R ) 71 69 140 40.8 99.2|Fr = FyFp—r3s
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ws [F & ' % 52 51 103 28.8 4.2\ A AVA FV—=TF A




